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









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

   




 




 







GMTA
 
 

     
      


 
 

      
 

 
 





 


















   

 


  



 
 


  


   












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
 
 

         


   


 
 




 
 






   


   





   

       


 
 


 


 
 


  


 
 


 
 


    


   


 
 


 
 

          


   


 


 
 


 
 








   




  
 


 
 




 
 


 


      







       







   








 



 




  



  

71. Who persuaded Macbeth to murder the king?
1. Lady Macbeth 2. The Spirits
3. The Duncan 4. Three Witches

72. What may be the other name of macbeth?
1. The Roman Play 2. The Scottish Play
3. The Revenge of Malcolm 4. None

73. “What can I do for you?” refer to
1. asking permission 2. giving permission
3. offering help 4. giving suggestion

74. ‘We are dealing with a sly crafty individual, who will try to get
the better of us - and his money back by hook or crook. we must
checkmate him.”

    In the above sentence “by hook or crook” means..........
1. by a lot of troubles 2. with a tactfull techniques
3. with a skillful deeds 4. by any method possible

75. Who refers “Sly crafty individual” to ?
1. The principle 2. The physics teacher
3. The geography teacher 4. Wasserkopt

76. The narrator of the above lines is
1. The principle 2. The mathematics teacher
3. The history teacher 4. The physics teacher

77. The sentence “we must checkmate him” indicates..........
1. a passibility 2. a suggestion  3. a strong obligation  4. all

78. Why does the cloud laugh at her own cenotaph?
1. a temporary absence does not mean its death
2. it does not like it      3. it loves its cenotaph     4. all

79. ‘The Blue dome of air’ refers to
1. Heaven 2. Cave 3. Cenotaph 4. Sky

80. Which character is comic relief in Macbeth?
1. Lady Macbeth    2. Macduff   3. Porter 4. Malcolm

81. Shakespeare wrote his plays in
1. Free verse 2. Blank verse  3. Sonnet     4. Monologue

82. Why are the sweed buds being waken?
1. due to the dews of the cloud  2. due to heavy rains
3. due to fear 4. due to thirsty
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83. “I silently laugh at my own cenotaph”; Here ‘laugh at’ refers to
1. to laugh heartily 2. to mock at
3. to smile sorrowly 4. none

84. Who caused catastrophes in macbeth?
1. Lady Macbeth 2. Macbeth
3. Macbeth ambitious 4. none

85. What is the tragic flaw in macbeth?
1. Ambitious 2. Injustice 3. Anger 4. Plot

86. The following is not a popular work of Fritz Karinthy
1. Journey round my skull 2. Please professor
3. The good companions 4. Refund

87. Fritz karinthy was a/an
1. Ireland writer 2. American writer
3. Hungarian writer 4. Canadian writer

88-89 “Iam the daughter of earth and water
And nursling of the sky”

88. Who was the narrator of the above lines?
1. The earth 2. The rain 3. The cloud 4. The water

89. ‘Nurshing’ refers to
1. A small baby 2. A mother
3. The earth and sky 4. The cloud

90. Choose the correct choronological order in the given plays
1. Macbeth-othello-Hamlet-Kinglear
2. Hamlet-Othello-Macbeth-King lear
3. Othello-Macbeth-Hamlet-King lear
4. Hamlet-Kinglear-Othello-Macbeth

91. Who said “Me thought I heard a voice cry sleep no more
macbeth does murder sleep, the innocent sleep.”

1. Macbeth 2. Duncan 3. Banquo 4. Macduff
92. Who gave wasserkopf the idea of asking the school refund?

1. checkmate 2. leader 3. leaderer 4. friend
93. The verb form of the Noun ‘Success’ is

1. success 2. succeed 3. successing 4. sucees
94. The Refund is an example for

1. A play 2. A short story   3. An essay 4. A novel
95. Who asked wasserkopf two questions”

1. The physics teacher 2. The mathematics teacher
3. The history teacher 4. The geogrphy teacher

96. The figures of speech in “Iam the daughter of earth and water’’
is

1. paradox 2. simile 3. metaphor 4. climax
97. What kind of rhyme scheme is used in ‘The cloud’ ?

1. Slant rhyme 2. Royal rhyme
3. Terza rhyme 4.Internal rhyme

98. Who says, “All the perfumes of Arabia will not sweeten this
little hand”?

1. Macbeth 2. Duncan    3. Lady Macbeth 4. Macduff
99. “Fair is Foul and Foul is Fair” are spoken by

1. The spirits 2. Three witches   3. Malcoln   4. Macduff
“I wield the flail of the lashing hail

        And whiten the green plains under”
100. The figure of speech in the given line is

1. Metaphor 2. Simile 3. Pun 4. Satire
101. In the above lines, the ‘cloud’ is compared with

1. The bird 2. The farmer 3. The sky 4. The mist
102. P.B. Shelly was not a

1. Romantic poet 2. Poet’s poet
3. Satanic school of poet 4. Naure’s poet

103. In which play did the Emperor occur?
1. Macbeth 2. Julius caesar  3. Refund   4. Mother’s Day

104. The given sentence “I pass through the pores of the ocean and
shores; I change but, I cannot die” has

1. One subordinate and Two main clauses
2. Three main clauses
3. One main clause and two subordinate clause
4. None

105. The musical device in “I bear light shade for the leaves when
laid”, is

1. Alliteration 2. Anastrophe 3. Oxymoron   4. Assonance
106-116 Choose correct tense forms for given sentences
106. Let me .......... here

1. lie 2. lay 3. lain 4. laid
107. If he was there, he .......... the lalk

1. would have heard 2. must have heard
3. could have heard 4. should have heard

108. He sailed for New York on Monday, and ......... there on saturday
1. arrive 2. would arrive  3. arrived 4. had arrived

109. I ........... him only one copy up to now
1. sen 2. send 3. am sending 4. have sent

110. It ..........since early morning
1. rained     2. rains          3. is raining       4. has been raining

111. Let’s go into the train. It is ...........(leave)
1. leaveing 2. left     3. going to leave  4. about to leave

112. When we start, It ........... (rain)
1. rains 2. rained 3. will be raining  4. will rain

113. The college .......... on 23rd June of 2015
1. opens 2. about to open
3. will open 4. is going to open

114. When Hari came to see me, I ...... my exerciges
1. was doing 2. had done 3. did 4. have done

115. I ......... him for a long time
1. know 2. knew 3. have known 4. had known

116. The light went out while I ....... the book
1. am reading 2. was reading
3. will be reading 4. would be read

117-127 Choose the correct conditional clauses
117. If I were you.

1. I should agree 2. I would agree
3. I could agree 4. all

118. If he were here,
1. he sould support me 2. he would support me
3. he could support me 4. all

119. If I like it, I shall buy come
1. If you think to 2. If you suppose to
3. If you hope to 4. If you wish to

120. I don’t have the wings of a bird. I won’t fly away
1. Had I the wings of a bird, I would fly away
2. If I were the wings of a bird, I would fly away
3. If I were a bird, I would fly away
4. Both 1 & 3

121. Unless you work harder,
1. You won’t fail 2. You would fail
3. You will fail 4. You should fail

122. You must go
1. Unless you hear from him or not
2. If you hear from him or not
3. If you do not hear from him or not
4. Whether you hear from him or not

123. I would have told you
1. If you asked me 2. If you ask me
3. If you should ask me 4. If you had asked me

124. If he’d run a bit faster,
1. he could have won 2. he would perhaps have won
3. would have been able to win   4. both 1 & 3

125. If you asked me nicely
1. I might get you a drink    2. I would have gotton you a drink
3. I will get you a drink 4. None

126. If you pour oil on water,
1. Oil will float 2. Oil floats 3. Oil floated   4. Oil shall floats

127. If you eat too much,
1. You get fat 2. You can get fat
3. You may get fat 4. You will get fat

128. Ravi listened to a speech for comprehension. Here the type
listening is

1. Botton-up listening 2. Gist listenig
3. Top - down listening 4. Critical listening

129. Which of the following method is useful to develop good lis-
tening skills in learners?

1. Narration method        2. Lecture cum demonstration method
3. Demonstration method 4. Lecture method

130. ‘Filling Grids’ is an activity for developing
1. Listening skills 2. Speaking skills
3. Reading skills 4. Writing skills

131. ‘Rhymes and chants’ are used at the primary classes for de-
veloping

1. listening skills 2. speaking skills
3. reading skills 4. writing skills

132. Mother tongue is learnt through
1. Parents 2. Repetition 3. Speech 4. None

133. The activity of Role-Play...........
1. Involves three pupils listening to the teacher
2. Involves the teacher and the entire class
3. Involves two pupils listening to one pupil
4. Adds interest and humour to the pupils learning
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134. A good English reader must include speaking exercieses in
1. Audio-lingual method 2. Structural method
3. Communicative method 4. None

135. “The oral activity” given in every unit of test book comes
under

1. Listening skills 2. Speaking skills
3. Reading skills 4. Writing skills

136. “Producing sounds in meaningful chunks” is a
1. Listening skills 2. Speaking skills
3. Reading skills 4. Writing skills

137. The word ‘discovered’ is a/an ......... word
1. mono-syllabic 2. di-syllabic
3. tri-syllabic 4. poly-syllabic

138. “The Intensity of voice” is called
1. Rhythm 2. Speech 3. Stress 4. Pitch

139. Identify the nasal sounds
1. p, b 2. t, d, k 3. m, n,  4. t  , d 

140. How many syllable are there in “Electricity” ?
1. Two syllable 2. Three syllable
3. Four syllable 4. Five syllable


   


 32  32  254  95


   

 k752
129

23 
k=

   


 
 


   

a/b b 
a/b 

 


p/q 


p, q 
pq 
p=0  0q  





 Qx x<0, x=0, x>0 
 Qyx , x<y, x=y, x>y 
 Qzyx ,, x<y, y<z x<z 


   

 452.5 
   


Z W Q N


   


   

 352
237
n 

n=

   
 82.12 p/q p-q=

   





   
 




   



   


  523.25  583.7 





   



   


   







  
 sin 


 
 







     



      




   


   


 
 

        
Htz

   



   


10C=10F 10C<10F 10C>10F 10C<10F


  


   


   
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




 


   

 Htz


   
 

 
 


 
  




   


 
 


 
 

      O2  


H2O CO2 H2S 


B1 B2 B3 B6
        


   


   


 
 


 


 
 


   

CO2  
CO2 

 KOH  H2SO4 NaCl



 KOH  H2SO4 NaCl


   


   


 

        


 
     


  

ALL THE BEST



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 4 51 3 101 2 151 4
2 1 52 3 102 4 152 3
3 3 53 2 103 3 153 2
4 4 54 3 104 2 154 3
5 2 55 1 105 1 155 1
6 3 56 1 106 1 156 4
7 2 57 1 107 2 157 3
8 4 58 4 108 3 158 2
9 2 59 2 109 4 159 4

10 3 60 1 110 4 160 3
11 4 61 1 111 4 161 1
12 1 62 1 112 3 162 4
13 2 63 3 113 1 163 3
14 3 64 1 114 2 164 2
15 3 65 3 115 3 165 3
16 2 66 1 116 2 166 2
17 1 67 2 117 1 167 4

SA ENGLISH(TET MATHS) ANSWER SHEET
DIV TEST.3 (17.03.2015)

17 1 67 2 117 1 167 4
18 3 68 2 118 2 168 2
19 1 69 1 119 4 169 4
20 1 70 3 120 1 170 3
21 1 71 1 121 3 171 2
22 2 72 2 122 4 172 3
23 2 73 3 123 4 173 1
24 2 74 4 124 4 174 3
25 2 75 4 125 4 175 4
26 3 76 2 126 2 176 1
27 4 77 3 127 1 177 2
28 3 78 1 128 2 178 2
29 2 79 4 129 4 179 3
30 4 80 3 130 1 180 4
31 4 81 2 131 2 181 4
32 2 82 1 132 3 182 1
33 4 83 2 133 4 183 3
34 1 84 1 134 3 184 2
35 2 85 1 135 2 185 4
36 2 86 3 136 2 186 1
37 3 87 3 137 3 187 1
38 3 88 3 138 4 188 3
39 1 89 1 139 3 189 1
40 4 90 2 140 4 190 140 4 90 2 140 4 190 1
41 2 91 1 141 4 191 1
42 2 92 3 142 3 192 3
43 2 93 2 143 2 193 4
44 2 94 1 144 4 194 2
45 1 95 2 145 2 195 1
46 2 96 3 146 3 196 1
47 1 97 4 147 2 197 4
48 4 98 3 148 4 198 1
49 1 99 2 149 1 199 3
50 1 100 1 150 1 200 2


